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===============================================================================================  

                                                                SECTION A : (READING)                                                                  (7)          
1.  Read the passage and answer the questions that follow:                                                                                   (1 x 4 = 4) 

Character is formed by a variety of minute circumstances, more or less under the regulation and 
control of the individual.  Not a day passes without its discipline, whether for good or for evil. 
The best sort of character, however, cannot be formed without effort.  There needs the exercise of 
constant watchfulness, self-discipline and self-control.   There may be much faltering, stumbling 
and temporary defeat—difficulties and temptations manifold to be battled with and overcome; 
but if the spirit be strong and the heart upright, no one need despair of ultimate success. 
The man of character is conscientious.  He puts his consciences into his work, into his words, into 
his every action. He is also reverential.  The possession o f this quality marks the noblest and 
highest type of manhood and womanhood: reverence for high minded workers amongst our 
contemporaries, for high objects, pure thoughts and noble aims and for the great men o former 
times.  Without reverence there can be no trust, no faith, no confidence either in man or God, 
neither social peace nor social progress. 
a) How is the best sort of character formed? 
b) What qualities should a man possess for good character? 
c) What does reverence breed? 
d) Find the words from the passage which mean the same as: 
  i)  concerned with doing something correctly        ii) happening now or in recent times 
 
2.  Read the following poem and answer the questions that follow by choosing  
       the correct option:                                                                                                                    (1 X 3  = 3)                      
                                                         Dog, Upon His Owner’s Return 
 
He runs, he twirls                                                                                                                                     
 He jumps, he swirls  
Exuberance shows no restraint.  
 
Excitement spews  
He nips my shoes  
With glee, not with complaint.  
 
He’s quick, he’s fleet  
Beneath my feet,  
A frenzy of jovial bliss.  
 
 

A look forlorn 
But not of scorn  
Wondering what was amiss.  
 
Each time I go 
 He’ll never know  
How long he will have to stay. 
 
 But now I’m back 
 No more to lack  
Forgotten, his saddened way. 
 
 

i) In the above poem,  which line best describes the dog’s overall nature?  
a) “How long he will have to stay”                                b) “With glee, not with complaint”  
c) “Wondering what was amiss”                                   d) “Forgotten, his saddened way 
 

ii) The mood of the poem can best be described as — 
 a) light                                b) mysterious                           c) romantic                               d) hostile 
 

iii) What is the meaning of ‘forlorn’ as used in the poem? 
a) happy                             b) lonely                                    c) satisfied                                d) cheerful 

                                                

 



                                                                   SECTION (B) WRITING                                                                  (8) 

3.  You are Lalit Suri, President of the History Association of your school.  Write a notice in about 
50 words, to inform the students of your school about an educational tour to historical places.   (3)                                                                                                          
 

4.  Imagine you are Mahesh Kumar a student of Rani Laxmi Bai School, Mumbai.  You have just 
returned from a trekking expedition organized by your friends.  Your uncle paid for the trip and 
now you want to write to him giving an account of your experience.  Write a letter in not more 
than 120 words.                                                                                                                                               (5) 
                                                           SECTION (C) GRAMMAR                                                                      (6) 
5. Fill in the blanks by choosing the correct word  from the box given below.                                (1/2 x 4 = 2) 

                    much        a few         a little         many      each       most 

a) Only _________ houses were spared by the earthquake. 
b) Sometimes, _________ patience and advice helps more than medicine.  
c) “I’m taking away ____ more than what I have been able to give,” said Mrs. Singh on her 
farewell. 
d) She gave a cookie to __________child. 
6.  The following passage has not been edited. There is one error in each of the lines.  Write the 
incorrect word and the correct word in your answer sheet. One has been done for you.(1/2 x 4 = 2) 
                                                                                                                        Incorrect         Correct                  
Hari live in a village called Sitapur.                                                               live                  lived       
In the morning, he goes to the village school.                                   (a)  ______         ______     
Each afternoon he take his father’s goats to the hillside                (b)  ______          ______    
to graze.   Hari sit with his back resting against a rock and             (c)  ______         ______ 
play  his flute.  The villagers loved his music.                                    (d) ______          ______     

7. Rearrange the following words so as to make meaningful sentences:                            (1/2 x 4 = 2) 

  a) advertise / cannot increase / You / you / the / of / goods / sale / your / if / don’t      

  b) I / they / another cup of tea / me / and / accepted / offered 

                                                                SECTION (D) LITERATURE                                                               (9) 
8.Read the extract and answer the following:                                                                             (1 x 3 = 3) 
 “ I met a traveller from an antique land 
        Who said: ‘Two vast and trunkless legs of stone 
        Stand in the desert. Near them, on the sand, 
        Half sunk, a shattered visage lies, whose frown,” 

a) Who is referred to as ‘I’ in the above lines? 
b) From where had the traveller come? 
c) What is the traveler talking about? 
9. Answer the following questions briefly:                                                                                  (2 x 3 = 6 ) 
i) Which two incidents suggest that the narrator’s wife was deeply attached to the bear? 
ii) How did the narrator and his wife convince the superintendent of the zoo to give Baba back to  
    them? 
iii) What message is conveyed through the poem ‘Ozymandias’? 
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I ÌlÉqlÉÍsÉÎZÉiÉ mÉëzlÉÉåÇ Måü E¨ÉU LMü uÉÉYrÉ qÉåÇ ÍsÉÎZÉL |                                   1+1+1+1 

Mü. sÉåÎZÉMüÉ MüÐ mÉÉPûzÉÉsÉÉ MüWûÉð sÉaÉiÉÏ jÉÏ ? 

ZÉ. ÍqÉÄeÉÉåUqÉ mÉëSåzÉ Måü ÌmÉNûÄQåû WûÉålÉå MüÉ YrÉÉ MüÉUhÉ Wæû ? 

aÉ. zÉWûU qÉåÇ WûÉå UWåû SÇaÉÉåÇ MüÐ ZÉoÉU ÌMüxÉlÉå SÏ jÉÏ ? 

bÉ. ÍqÉÄeÉÉåUqÉ mÉëSåzÉ MüÐ Îx§ÉrÉÉåÇ Måü qÉÑZrÉ MüÉrÉï YrÉÉ WæÇû ? 

II ÌlÉqlÉÍsÉÎZÉiÉ mÉëzlÉÉåÇ Måü E¨ÉU iÉÏlÉ-cÉÉU uÉÉYrÉÉåÇ qÉåÇ ÍsÉÎZÉL |                         2+2+2+2+2 

Mü. aÉÑÂ eÉÏ Måü uÉÉmÉxÉ eÉÉlÉå mÉU bÉÏxÉÉ lÉå ElWåÇû aÉÑÂ-SÍ¤ÉhÉÉ qÉåÇ YrÉÉ ÌSrÉÉ iÉjÉÉ bÉÏxÉÉ lÉå CxÉMüÉ CÇiÉÄeÉÉqÉ  

    MæüxÉå ÌMürÉÉ ? 

ZÉ. MåÇüSìzÉÉÍxÉiÉ mÉëSåzÉ Måü ÃmÉ qÉåÇ ÍqÉÄeÉÉåUqÉ MüÉ E«ÉOûlÉ ÌMüxÉlÉå AÉæU MüoÉ ÌMürÉÉ jÉÉ ? 

aÉ.  qÉÄeÉSÕUÏ  Måü mÉæxÉå ÍqÉsÉlÉå mÉU qÉÉð xÉoÉ MüÉqÉ NûÉåÄQû YrÉÉ ZÉUÏSlÉå aÉD AÉæU YrÉÉåÇ ? 

bÉ. ÍqÉÄeÉÉåUqÉ qÉåÇ qÉMüÉlÉ ÌMüxÉ mÉëMüÉU Måü WûÉåiÉå WæÇû? uÉWûÉð qÉMüÉlÉ oÉlÉÉlÉå qÉåÇ YrÉÉ-YrÉÉ mÉërÉÉåaÉ ÌMürÉÉ eÉÉiÉÉ Wæû? 

ÄQû. bÉÏxÉÉ AlrÉ oÉŠÉåÇ xÉå MæüxÉå ÍpÉ³É jÉÉ ? 

III mÉëzlÉÉåÇ Måü E¨ÉU ÌuÉxiÉÉU xÉå  ÍsÉÎZÉL |                                                    3+3 

M  üÍqÉÄeÉÉåUqÉ Måü sÉÉåaÉÉåÇ MüÉ xuÉpÉÉuÉ, sÉÉåMüÌmÉërÉ lÉ×irÉ AÉæU uÉWûÉð Måü mÉëÉM×üÌiÉMü xÉÉæÇSrÉï Måü oÉÉUå qÉåÇ ÍsÉÎZÉL | 

ZÉ „WûÉåsÉÏ Måü mÉWûsÉå  MüÐ......xÉWûeÉ lÉWûÏÇ |‟ CxÉ AkÉÔUå uÉÉYrÉ MüÉå mÉÔUÉ MüÐÎeÉL AÉæU ÍsÉZÉMüU oÉiÉÉCL ÌMü  

    sÉåÎZÉMüÉ lÉå LåxÉÉ YrÉÉåÇ ÍsÉZÉÉ WûÉåaÉÉ ? 

IV ÌlÉqlÉÍsÉÎZÉiÉ mÉëzlÉÉåÇ Måü E¨ÉU iÉÏlÉ-cÉÉU  uÉÉYrÉÉåÇ  qÉåÇ ÍsÉÎZÉL |                               2+2 

Mü WåûlxÉ ÍsÉmmÉåzÉÏï MüÉå LMü ÌSlÉ YrÉÉ xÉÔfÉÉ AÉæU ExÉlÉå YrÉÉ SåZÉÉ ? 

ZÉ aÉæsÉÏÍsÉrÉÉåÇ MüÐ SÕUoÉÏlÉ MüÐ YrÉÉ ÌuÉzÉåwÉiÉÉ jÉÏ AÉæU ExÉxÉå WûqÉåÇ YrÉÉ eÉÉlÉMüÉUÏ ÍqÉsÉÏ ? 

V  Mü   lÉÏcÉå ÍsÉZÉå zÉoSÉåÇ Måü  SÉå-SÉå mÉrÉÉïrÉuÉÉcÉÏ ÍsÉÎZÉL |      1 mÉÉuÉïiÉÏ     2 zÉUÏU             2 

ZÉ  ÌSL aÉL zÉoSÉåÇ Måü ÌuÉsÉÉåqÉ zÉoS ÍsÉÎZÉL |  1 oÉÇeÉU   2 mÉëMüOû   3 AÉSU  4 xÉ‹lÉ            2 

aÉ AlÉåMü zÉoSÉåÇ Måü ÍsÉL LMü-LMü zÉoS ÍsÉÎZÉL |                                                2 

1 UcÉlÉÉ MüUlÉå uÉÉsÉÉ           2 eÉÉå AÉxÉÉlÉÏ xÉå ÍqÉsÉå 

3 zÉUhÉ qÉåÇ AÉrÉÉ WÒûAÉ        4 ÎeÉxÉMüÉ MüÉåD zÉ§ÉÑ lÉ WûÉå   

********* 
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1. Find the multiplicative inverse of   x  2                      
 

2. Fill in the blank and name the property       used:     +    = ( a rational 

number) 
 

3. Solve for m:  -2m + 8 = 7 
 

4. Justify why this is a trapezium?  
 

5. Find the number of sides of a regular polygon if one of its interior angle  
    measures 1200. 
 

6. Find 4 rational numbers between -4 and -5. 
 

7. Verify which among the following value of ‘x’ will satisfy the given linear 
equation: 

 x =    or x =                                     2x + 7 = 9x – 2 
 

8. Draw a number line and represent -3/5 and +7/5 on it. 
 

9. Solve the equation:     -    =   + 4 
 

10. If the diagonals of a Rhombus measures 8cm and 6cm,  Find the measure of  

   each side. 
 

11. Find x in the given figure  
      KITE and GOLD are parallelograms, 
 

12. Verify distributive property of rational number multiplication over addition for  

      the values:    a =       b=        c=  
 

13. The sum of the digits of a two digit number is 9.   If number formed by 

reversing the digits of the two digit number is  greater than the original number is  
9 .  Find the two digit number. 

 
 

 

 

 

 

 

 

 

 

 

 

 

 



SINDHI HIGH SCHOOL,HEBBAL  

FORMATIVE ASSESSMENT – II  (2015-16)  

SUBJECT:- L2 KANNADA 

Class VIII                                                                                         Marks:- 30 
 

I. F UÀzÀå¨sÁUÀªÀ£ÀÄß N¢ PÉ¼ÀUÉ PÉÆnÖgÀÄªÀ ¥Àæ±ÉßUÀ½UÉ GvÀÛj¹. 

   PÀ£ÀßqÀ £Ár£À°è ªÁ¸ÀªÁVgÀÄªÀ UÉÆAzÀ°UÀgÀÄ ºÁqÀÄªÀÅzÀ£Éß vÀªÀÄä PÀ¸ÀÄ§£ÁßV 

ªÀiÁrPÉÆAqÀªÀgÀÄ,d£À¥ÀzÀ ºÁqÀÄUÀ¼À£ÀÄß EªÀgÀÄ ºÁqÀÄvÁÛgÉ.`UÉÆAzÀ®‟ MAzÀÄ ¥ÀÆeÁ 

«zsÁ£À.UÉÆAzÀ°UÀgÀ DgÁzsÀå zÉÊªÀ `CA¨Á¨sÁªÀ¤‟ vÀªÀÄä zÉÊªÀzÀ ªÀÄÄAzÉ ¨É¼ÀPÀÄ ºÀjAiÀÄÄªÀgÉUÀÆ 

PÀxÉAiÀÄ£ÀÄß ºÁqÀÄvÁÛ,PÀÄtÂAiÀÄÄvÁÛ, EgÀÄªÀÅzÉÃ F ¥ÀÆeÁ«zsÁ£À EzÀ£ÀÄß `UÉÆAzÀ® ºÁPÀÄªÀÅzÀÄ‟ 

JAzÀÆ PÀgÉAiÀÄÄvÁÛgÉ. 

   ªÀÄgÁp,²A¦,¸ÉÆÃ£Ágï ºÁUÀÆ qÉPÀ£ï ¥ÀæzÉÃ±ÀzÀ EvÀgÀ eÁwAiÀÄªÀgÀÄ ±ÀÄ¨sÀ ¸ÀAzÀ¨sÀðUÀ¼À°è 

UÉÆAzÀ®ªÀ£ÀÄß K¥Àðr¸ÀÄªÀ ¸ÀA¥ÀæzÁAiÀÄ«zÉ. UÉÆAzÀ® ºÁPÀÄªÀ ¸ÀªÀÄAiÀÄzÀ°è UÀAqÀ¸ÀgÀÄ 

ªÀÄÄAqÁ¸ÀÄ, frØ¤AzÀ PÀ¥ÁàzÀ CAV `gÀhÄUÀ‟ PÉÆgÀ¼À°è PÀªÀqÉ¸ÀgÀ,£ÀqÀÄ¥ÀnÖ,»vÁÛ¼É CxÀªÁ ¨É½î 

G§ÄâPÉvÀÛ£ÉAiÀÄ «UÀæºÀ,PÁ®ÄUÉeÉÓ ºÁQ PÉÆ¼ÀÄîªÀgÀÄ ªÀÄvÀÄÛ ºÉAUÀ¸ÀgÀÄ ¹ÃgÉ,gÀ«PÉ,D¨sÀgÀtUÀ¼À£ÀÄß 

zsÀj¸ÀÄvÁÛgÉ.UÉÆAzÀ°UÀgÀ ªÀÄ£É ªÀiÁvÀÄ ªÀÄgÁp «Ä²ævÀ PÀ£ÀßqÀ.  

¥Àæ±ÉßUÀ¼ÀÄ:- 

1. UÉÆAzÀ°UÀgÀ ¥ÀÆeÁ «zsÁ£ÀªÀ£ÀÄß w½¹.                                (2) 

2, UÉÆAzÀ® ºÁPÀÄªÀ ¸ÀªÀÄAiÀÄzÀ°è UÉÆAzÀ°UÀgÀ ªÉÃµÀ¨sÀÆµÀtªÀ£ÀÄß w½¹?           (2) 

3. UÉÆAzÀ°UÀgÀÄ ªÀiÁvÀ£ÁqÀÄªÀ ¨sÁµÉ AiÀiÁªÀÅzÀÄ?                            (1) 

II. ¤ªÀÄä ºÀÄlÄÖºÀ§âªÀ£ÀÄß ºÉÃUÉ DZÀj¹PÉÆ¼Àî¨ÉÃPÉA§ D¸É EzÉ JA§ÄzÀ£ÀÄß  ¤ªÀÄä    

  UÉ¼ÉAiÀÄ/UÉ¼ÀwAiÀÄgÉÆqÀ£É ºÀAaPÉÆAqÀÄ  CªÀjUÉÆAzÀÄ ¥ÀvÀæ §gÉ¬Äj.            (4) 

III. DªÀgÀtzÀ°è ¸ÀÆa¹gÀÄªÀAvÉ §gÉ¬Äj.                                (6) 

1. gÀxÉÆÃvÀìªÀ, ªÉÄÊzÉÆUÀ®Ä    (F ¥ÀzÀUÀ¼À£ÀÄß ©r¹ ¸ÀA¢ü ºÉ¸Àj¹) 

2. ¥Àtð,UË¥Àå             (¸ÀªÀiÁ£ÁxÀð ¥ÀzÀªÀ£ÀÄß §gÉ¬Äj) 

3. ºÉÆUÀ½PÉ,QÃwð          («gÀÄzÀÞ ¥ÀzÀ §gÉ¬Äj) 

4. ªÀÄÄR,d£Àä             (vÀvÀìªÀÄ vÀzÀãªÀ §gÉ¬Äj) 

5. ªÀÄÄ£ÉßZÀÑjPÉ             (¸ÀéAvÀ ªÁPÀå ªÀiÁr)   



IV. PÉÆnÖgÀÄªÀ ¥Àæ±ÉßUÀ½UÉ JgÀqÀÄ-ªÀÄÆgÀÄ ªÁPÀåUÀ¼À°è GvÀÛj¹.            (2x3=6) 

1. «ÄoÁ¬Ä PÉÆnÖzÀÝPÉÌ CwyUÀ¼À DPÉëÃ¥ÀªÉÃ£ÀÄ? 

2. fgÁ¥sÉ ºÉÃUÉ DºÁgÀ ¸ÀàzsÉðAiÀÄ°è AiÀÄ±À¹éAiÀiÁUÀÄvÀÛzÉ? 

3. PÀ£ÀßqÀ £Ár£À ¥ÀæPÀÈw ªÉÊ²µÀÖöåªÉÃ£ÀÄ? 

V. PÉÆnÖgÀÄªÀ ¥Àæ±ÉßUÀ½UÉ £Á®ÄÌ-LzÀÄ ªÁPÀåUÀ¼À°è GvÀÛj¹.              (3x3=9) 

1. £À«Ã£À ²PÀëtzÀ ªÉÊ²µÀÖöåUÀ¼ÉÃ£ÀÄ? 

2. ªÉÆ¸À¼É,ºÁªÀÅUÀ¼À ¸ÀAgÀPÀëuÁ PÀæªÀÄUÀ¼À£ÀÄß w½¹. 

3, ``¤ªÀÄä ºÀ¼ÉAiÀÄ ²µÀå¤UÉ EzÉÆAzÀÄ G¥ÀPÁgÀ ªÀiÁr”¸ÀAzÀ¨sÀð ¸À»vÀ «ªÀj¹. 

                    CxÀªÁ 

                         “¤£Àß PÀ¯Éè £ÀÄrªÀÅzÀ®è!” 
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1. Name the British officer who introduced Subsidiary Alliance.                    (1) 
2. Why did Lord Dalhousie take over the kingdom of Awadh?                    (1) 
3. Define the term constitution.                                (1) 
4. When was the Dowry Prohibition act implemented?                     (1) 

5. Which region supports a large number of people?                                          (1) 
6. Write any two characteristics of Mountaneous soil.                                        (2) 

7. Mention any two points which has led to depletion of forest and wildlife.        (2) 
8. List two steps taken by the government to conserve forests and wildlife.        (2) 
9. What were the reasons for the success of the British in Carnatic wars?          (3) 
10. What were the objectives of a Secular State?                      (3) 
11. What has reduced the availability of fresh water for human consumption?   (3) 
12. What are fundamental Rights? Right to Equality is one of the fundamental    

      Right enjoyed under the Indian Constitution. Explain.                         (1+4=5) 
13. Explain in brief the Battle of Plassey.                       (5) 
 

 
 
 



 
SINDHI HIGH SCHOOL,HEBBAL  

FORMATIVE ASSESSMENT – II  (2015-16)  

SUBJECT:- GENERAL SCIENCE  

Class VIII                                                                                              Marks:- 30 
1. Identify the type of force in the following:                      (1) 
 

            (a)                                           (b) 
 

 
 
 
 
2. What keeps the moon revolving around the Earth?                     (1) 
 

3. Name one ore of aluminium and iron each                                                     (1) 
 

4. Define (a) Animal husbandry         (b) Buffer stock                                         (1) 
 

5. What are the advantages of crop rotation?                                                     (1) 
 

6. Why blood vessels burst leading to the problem of bleeding of nose when one  
     goes to higher altitude?                                         (2) 
 

7. Define pressure and give its SI unit.                               (2) 
 

8. Draw a labeled diagram of the manometer.                              (2) 
 

9. What is the resultant force in the figure given below and in which direction it  

     will act?                                                                                                        (2) 
 
 
 
 

10. Explain the term malleability with an example .                                           (2) 
 

11. Write the name of the following compounds Al2(SO4)3,AgCl2,MgBr2,KOH       (2) 
 

12. Write the molecular formula  of the compounds                                           (2) 

Calcium carbonate  ,  Ammonium chloride 
Copper II nitrate      ,  Sodium bicarbonate 

 

13. Mention the crops based on the season.  Give suitable examples.                (2) 
 

14. Balance the following equations                                                                   (3) 

    CH4 + O2------ CO2 +H2O 
    FeCl3 +NaOH -------Fe(OH)3 + NaCl 

    N2 + H2 ---- NH3 
 

15. Differentiate between manures and fertilizers. List the advantages of manures  
      over fertilizers.                                                                                       (3) 
 

16. What is irrigation?  Explain the modern methods of irrigation.                    (3) 

******** 

 


